EH1-5

AR RSR TS fEETX 2 |

0.00

0.00

0.00

S S

2N
|
Y %

RIHERY
HURRy T

V3. 80

— o

REIFEWY
YRV T

’ \ ii@uﬂﬂkii
el [ R A A
8
i

1 B 2 S=1:1000

—o SBE

PBDT  #TE%MEHE 1.5mx 1. 5m

T

PBDI 70@1500=105000 ‘

No. 6
GH=2. 02
F= 1
7
FIEY %

PBDT  $TEXRARE 1.5mx 1. 5m

PBDIT 103@1500=154500

FiEY A%
REIFEMY
HYUFIV T

#WiAELE V3.80

1RELIFE V300

H$U PRy bRiE V2.20

No. 5

6H=2. 00
FH= 3

\ *EY ﬁhfﬁg

PBDT  $TEXRARE 1.5mx 1. 5m

PBDIT 116@1500=174000 ‘

No. 7
[ B | %8 b}
RIHERY m 32.9 | —
HU KTy RI m 53.7
Bt (EEL) m 162.6
Bt (B m |Bl&EtE| 22
No. 6
[ ] B | # & & A
REFEMY m 48.3 | —
HURTY bI m 78.3
Bt (BEEL) m 247.9 zzz
Bt (AR m |Bl&EtE| 22
No. 5
[ B | %8 b}
REIFERY m 53.8 | —
HU Ry AT m 88.9
Bt (WEEL) m 277.9
Bt (B m |Bl&EtE| 2
IEFE wf 6 £ &I B 5
IE4 EOREMHTF T ETH
%% &
THER KINTTRF AL B
[E MR 2
# R| SAa% | mmEs | cuszmss
FHFE KINTREFF RNORBHRRE iR
200 % PRI E] A0z =
a0 % =BzE | w[] ® =5 | [




